

ON (\bar{N}, p_n) SUMMABILITY OF FOURIER SERIES AND ITS CONJUGATE SERIES

ASHOK GANGULY

Department of Mathematics, University of Saugar, Saugar (M.P.) 470003

(Received 26 February 1979)

In the present paper, two theorems on (\bar{N}, p_n) summability have been proved which generalize the results of Luan (1973) on (I) summability.

§1. Let Σu_n be a given series with the sequence of partial sums $\{S_n\}$ and $\{p_n\}$ be a sequence of constants, real or complex, such that

$$P_n = \sum_{\nu=0}^n p_\nu \neq 0 \text{ for all } n$$

and

$$t_n = \frac{1}{P_n} \sum_{\nu=0}^n p_\nu S_\nu.$$

If $\lim_{n \rightarrow \infty} t_n = s$, the series Σu_n or the sequence $\{s_n\}$ is said to be summable (\bar{N}, p_n) to s (Hardy 1949, p. 57). When $p_n = 1/(n + 1)$, the method (\bar{N}, p_n) is equivalent to the logarithmic method (I) (see Hardy 1949, p. 59 and p. 87).

§2. Let $f(t)$ be a 2π -periodic and L -integrable function over $(-\pi, \pi)$. The Fourier series of $f(t)$ and its conjugate series are given by

$$f(t) \sim \frac{1}{2} a_0 + \sum_{n=1}^{\infty} (a_n \cos nt + b_n \sin nt) \quad \dots(2.1)$$

and

$$\sum_{n=1}^{\infty} (b_n \cos nt - a_n \sin nt) \equiv \sum_{n=1}^{\infty} B_n(t) \quad \dots(2.2)$$

respectively.

We write

$$\phi(t) = \frac{1}{2} \{f(x + t) + f(x - t) - 2S\}$$

$$\psi(t) = \frac{1}{2} \{f(x + t) - f(x - t)\}$$

$$\phi_1(t) = \frac{1}{t} \int_0^t \phi(u) du$$

and

$$\bar{f}(x) = \lim_{\epsilon \rightarrow 0} \bar{f}(x, \epsilon) = \lim_{\epsilon \rightarrow 0} \left\{ \frac{1}{\pi} \int_{\epsilon}^{\pi} \frac{\psi(t)}{\tan t/2} dt \right\}.$$

§3. In this paper, we prove the following:

Theorem 1 — If

$$\int_t^{\pi} \frac{|\phi_1(u)|}{u} du = o\left(\log \frac{1}{t}\right) \text{ as } t \rightarrow 0 \tag{3.1}$$

then the Fourier series (2.1) at $t = x$ is summable (\bar{N}, p_n) to S , where $\{p_n\}$ is a sequence of positive real constants such that $P_n = \sum_{\nu=0}^n p_{\nu}$ tends to infinity with n and

$$\sum_{\nu=1}^{n-1} |\Delta(\nu p_{\nu})| + np_n = O\left(\frac{P_n}{\log n}\right). \tag{3.2}$$

Theorem 2 — If

$$\Psi(t) = \int_t^{\pi} \frac{\psi(u)}{u} \log \frac{1}{u} du = o\left(\log \frac{1}{t}\right) \text{ as } t \rightarrow 0 \tag{3.3}$$

then

$$\bar{l}_n(x) - \bar{f}(x, (1/n)) = o(1) \text{ as } n \rightarrow \infty$$

where $\bar{l}_n(x)$ is the (\bar{N}, p_n) mean of the conjugate series (2.2) at $t = x$ and $\{p_n\}$ is a sequence of constants as defined in Theorem 1 satisfying (3.2), provided that $\bar{f}(x)$ exists.

For $p_{\nu} = 1/(\nu + 1)$, we obtain two theorems due to Luan (1973) on (l) summability.

§4. We require the following lemmas:

Lemma 1 —

$$(i) \sum_{v=1}^n \sin vt = \frac{\cos \frac{1}{2}t - \cos (n + \frac{1}{2})t}{2 \sin \frac{1}{2}t} = \begin{cases} O(n) & \text{for } 0 < t \leq 1/n, \\ O(1/t) & \text{for } 1/n < t \leq \pi. \end{cases}$$

$$(ii) \sum_{v=1}^n \frac{\sin vt}{vt} = O(n) \text{ for } 0 < t < \frac{1}{n}.$$

$$(iii) \sum_{v=1}^n \frac{\sin vt}{v} = O(1) \text{ for all values of } n \text{ and } t.$$

$$(iv) \sum_{v=1}^n \frac{\sin^2 vt}{vt} = O(n^2t) \text{ for } 0 < t \leq \frac{1}{n}.$$

Lemma 2 —

$$(i) \sum_{v=1}^n \cos vt = \frac{\sin (n + \frac{1}{2})t - \sin \frac{1}{2}t}{2 \sin \frac{1}{2}t} = \begin{cases} O(n) & \text{for } 0 < t \leq 1/n, \\ O(1/t) & \text{for } 1/n < t \leq \pi. \end{cases}$$

$$(ii) \sum_{v=1}^n \frac{\cos vt}{v} = O\left(\log \frac{1}{t}\right) \text{ for } 0 < t < \pi.$$

The third estimate of Lemma 1 and the second estimate of Lemma 2 are well known (Titchmarsh 1952, p. 440, Hardy and Rogosinski 1947). The proofs of the remaining estimates are immediate.

Lemma 3 — Let $\{p_n\}$ be a sequence as given in Theorem 1 satisfying (3.2.) Then we have

$$(i) \sum_{v=0}^n v p_v \sin vt = \begin{cases} O(nP_n/\log n) & \text{for } 0 < t \leq 1/n, \\ O(P_n/t \log n) & \text{for } 1/n < t \leq \pi. \end{cases}$$

$$(ii) \sum_{v=0}^n p_v \sin vt = O(P_n/\log n) \text{ for all values of } n \text{ and } t.$$

$$(iii) \sum_{v=0}^n p_v \frac{\sin vt}{t} = O(nP_n/\log n) \text{ for } 0 < t \leq 1/n.$$

$$(iv) \quad \sum_{\nu=0}^n p_{\nu} \sin^2 \frac{\nu t}{2} = O(P_n) \text{ for } t = 1/n.$$

$$(v) \quad \sum_{\nu=0}^n p_{\nu} \frac{\sin^2 \frac{1}{2} \nu t}{t} = O(P_n n^2 t / \log n) \text{ for } 0 < t \leq 1/n.$$

PROOF : By Abel's transformation, we have

$$\left| \sum_{\nu=0}^n \nu p_{\nu} \sin \nu t \right| \leq \sum_{\nu=1}^{n-1} \left| \sum_{k=1}^{\nu} \sin kt \right| \left| \Delta (\nu p_{\nu}) \right| + \left| \sum_{k=1}^n \sin kt \right| n p_n.$$

On using (3.2) and Lemma 1(i), we get estimate (i).

Similarly, applying Abel's transformation, the estimates (ii), (iii) and (v) can be easily obtained with the help of (3.2) and Lemmas 1(iii), 1(ii) and 1(iv) respectively.

The proof of estimate (iv) is immediate.

Lemma 4 — Let $\{p_n\}$ be a sequence as given in Theorem 1 satisfying (3.2). Then we have

$$(i) \quad \sum_{\nu=0}^n \nu p_{\nu} \cos \nu t = \begin{cases} O(n P_n / \log n) & \text{for } 0 < t \leq 1/n, \\ O(P_n / t \log n) & \text{for } 1/n < t \leq \pi. \end{cases}$$

$$(ii) \quad \sum_{\nu=0}^n p_{\nu} \cos \nu t = \begin{cases} O((P_n / \log n) \log 1/t) & \text{for } 0 < t \leq \pi, \\ O(P_n) & \text{for } t = 1/n. \end{cases}$$

PROOF : By Abel's transformation, we have

$$\left| \sum_{\nu=0}^n \nu p_{\nu} \cos \nu t \right| \leq \sum_{\nu=1}^{n-1} \left| \sum_{k=1}^{\nu} \cos kt \right| \left| \Delta (\nu p_{\nu}) \right| + \left| \sum_{k=1}^n \cos kt \right| n p_n.$$

Using (3.2) and Lemma 2(i), we get the estimate (i).

Similarly, applying Abel's transformation, the first part of estimate (ii) can be proved with the help of (3.2) and Lemma 2(ii). The second part of this estimate can be simply obtained by taking $t = 1/n$ in the first part.

§5. *Proof of Theorem 1* — Let $S_n(x)$ be the n th partial sum of (2.1) at $t = x$ and $t_n(x)$ be its (\bar{N}, p_n) -mean. Then we have

$$\begin{aligned}
 t_n(x) - S &= \frac{1}{P_n} \sum_{\nu=0}^n p_\nu \{S_\nu(x) - S\} \\
 &= \frac{1}{P_n} \sum_{\nu=0}^n p_\nu \left\{ \frac{2}{\pi} \int_0^\pi \frac{\phi(t)}{t} \sin \nu t \, dt + o(1) \right\} \\
 &= \frac{2}{\pi P_n} \int_0^\pi \frac{\phi(t)}{t} N_n(t) \, dt + o(1) \\
 &= \frac{2}{\pi P_n} \left[\int_0^\pi \frac{\phi_1(t)}{t} N_n(t) \, dt - \int_0^\pi \phi_1(t) N'_n(t) \, dt \right] + o(1) \\
 &= \frac{2}{\pi P_n} (I_1 - I_2) + o(1), \text{ say} \tag{5.1}
 \end{aligned}$$

where

$$N_n(t) = \sum_{\nu=0}^n p_\nu \sin \nu t \quad \text{and} \quad N'_n(t) = \sum_{\nu=0}^n \nu p_\nu \cos \nu t.$$

Now, let us write

$$\begin{aligned}
 I_1 &= \int_0^\pi \frac{\phi_1(t)}{t} N_n(t) \, dt \\
 &= \left(\int_0^{1/n} + \int_{1/n}^\pi \right) \frac{\phi_1(t)}{t} N_n(t) \, dt \\
 &= I_{1,1} + I_{1,2}, \text{ say.} \tag{5.2}
 \end{aligned}$$

Using partial integration, it can be easily established that if (3.2) holds, then

$$\int_0^t |\phi_1(u)| \, du = o\left(t \log \frac{1}{t}\right) \text{ as } t \rightarrow 0.$$

Now, applying Lemma 3(iii), we have

$$|I_{1,1}| \leq \int_0^{1/n} |\phi_1(t)| \left| \frac{N_n(t)}{t} \right| dt$$

$$\begin{aligned}
 &= O\left(\frac{nP_n}{\log n} \int_0^{1/n} |\phi_1(t)| dt\right) \\
 &= o(P_n) \text{ as } n \rightarrow \infty.
 \end{aligned} \tag{5.3}$$

Similarly, using Lemma 3(iii), we have

$$\begin{aligned}
 |I_{1,2}| &\leq \int_{1/n}^{\pi} \frac{|\phi_1(t)|}{t} |N_n(t)| dt \\
 &= O\left(\frac{P_n}{\log n} \int_{1/n}^{\pi} \frac{|\phi_1(t)|}{t} dt\right) \\
 &= o(P_n) \text{ as } n \rightarrow \infty, \text{ by (3.1)}.
 \end{aligned} \tag{5.4}$$

Collecting (5.2) to (5.4), we have

$$I_1 = o(P_n) \text{ as } n \rightarrow \infty. \tag{5.5}$$

Further, we write

$$\begin{aligned}
 I_2 &= \int_0^{\pi} \phi_1(t) N'_n(t) dt \\
 &= \left(\int_0^{1/n} + \int_{1/n}^{\pi}\right) \phi_1(t) N'_n(t) dt \\
 &= I_{2,1} + I_{2,2}, \text{ say.}
 \end{aligned} \tag{5.6}$$

Now, applying Lemma 4(i), we have

$$\begin{aligned}
 |I_{2,1}| &\leq \int_0^{1/n} |\phi_1(t)| |N'_n(t)| dt \\
 &= O\left(\frac{nP_n}{\log n} \int_0^{1/n} |\phi_1(t)| dt\right) \\
 &= o(P_n) \text{ as } n \rightarrow \infty.
 \end{aligned} \tag{5.7}$$

Again, Lemma 4(i) gives that

$$\begin{aligned}
 |I_{2,2}| &\leq \int_{1/n}^{\pi} |\phi_1(t)| |N'_n(t)| dt \\
 &= O\left(\frac{P_n}{\log n} \int_{1/n}^{\pi} \frac{|\phi_1(t)|}{t} dt\right) \\
 &= o(P_n) \text{ as } n \rightarrow \infty, \text{ by (3.1)}.
 \end{aligned} \tag{5.8}$$

Collecting (5.6) to (5.8), we get

$$I_2 = o(P_n) \text{ as } n \rightarrow \infty. \tag{5.9}$$

Finally, the collection of (5.1), (5.5) and (5.9) gives

$$t_n(x) - S = o(1) \text{ as } n \rightarrow \infty.$$

This completes the proof of Theorem 1.

§6. *Proof of Theorem 2* — Let $\bar{S}_n(x)$ be the n th partial sum of (2.2) at $t = x$ and $\bar{t}_n(x)$ be its (\bar{N}, p_n) -mean. Then we have

$$\begin{aligned} \bar{t}_n(x) - \bar{f}\left(x, \frac{1}{n}\right) &= \frac{1}{P_n} \sum_{\nu=0}^n p_\nu \left\{ \bar{S}_\nu(x) - \bar{f}\left(x, \frac{1}{n}\right) \right\} \\ &= \frac{1}{P_n} \sum_{\nu=0}^n p_\nu \left\{ \frac{2}{\pi} \int_0^\pi \psi(t) \frac{\sin^2 \frac{1}{2} \nu t}{\tan \frac{1}{2} t} dt - \frac{1}{\pi} \int_{1/n}^\pi \frac{\psi(t)}{\tan \frac{1}{2} t} dt \right\} + o(1) \\ &= \frac{2}{\pi P_n} \left\{ \int_0^{1/n} \frac{2\psi(t)}{t} L_n(t) dt - \int_{1/n}^\pi \frac{\psi(t)}{t} M_n(t) dt \right\} + o(1) \\ &= \frac{2}{\pi P_n} (J_1 - J_2) + o(1) \end{aligned} \tag{6.1}$$

where $L_n(t) = \sum_{\nu=0}^n p_\nu \sin^2 \frac{1}{2} \nu t$ and $M_n(t) = \sum_{\nu=0}^n p_\nu \cos \nu t$.

Now, we observe that

$$\begin{aligned} J_1 &= - \int_0^{1/n} \frac{2\Psi'(t)}{\log(1/t)} L_n(t) dt \\ &= - \left[\frac{2\Psi(t) L_n(t)}{\log(1/t)} \right]_0^{1/n} + \int_0^{1/n} \frac{2\Psi(t)}{(\log(1/t))^2} \frac{L_n(t)}{t} dt \\ &\quad + \int_0^{1/n} \frac{2\Psi(t)}{\log(1/t)} L'_n(t) dt. \end{aligned}$$

Using Lemmas 3(iv), 3(v) and 3(i), we have

$$\begin{aligned} J_1 &= o(P_n) + o\left(\frac{n^2 P_n}{\log n} \int_0^{1/n} \frac{t}{\log(1/t)} dt\right) + o\left(\frac{n P_n}{\log n} \int_0^{1/n} dt\right), \text{ by (3.3)} \\ &= o(P_n) \text{ as } n \rightarrow \infty. \end{aligned} \tag{6.2}$$

Next

$$\begin{aligned} J_2 &= - \int_{1/n}^{\pi} \frac{\Psi'(t)}{\log(1/t)} M_n(t) dt \\ &= - \left[\frac{\Psi(t)}{\log(1/t)} M_n(t) \right]_{1/n}^{\pi} + \int_{1/n}^{\pi} \frac{\Psi(t)}{(\log(1/t))^2} \frac{M_n(t)}{t} dt \\ &\quad + \int_{1/n}^{\pi} \frac{\Psi(t)}{\log(1/t)} M'_n(t) dt. \end{aligned}$$

Applying Lemmas 4(ii) and 3(i), we have

$$\begin{aligned} J_2 &= o(P_n) + o((P_n/\log n) \int_{1/n}^{\pi} t^{-1} dt) + o((P_n/\log n) \int_{1/n}^{\pi} t^{-1} dt), \text{ by (3.3)} \\ &= o(P_n) \text{ as } n \rightarrow \infty. \end{aligned} \quad \dots(6.3)$$

Combining (6.1) to (6.3), we have

$$\bar{i}_n(x) - \bar{f}\left(x, \frac{1}{n}\right) = o(1) \text{ as } n \rightarrow \infty.$$

This completes the proof of Theorem 2.

ACKNOWLEDGEMENT

The author is indebted to Dr R. K. Jain for his valuable suggestions during the preparation of this paper.

REFERENCES

- Hardy, G. H. (1949). *Divergent Series*. The Clarendon Press, Oxford.
 Hardy, G. H., and Rogosinski, W. W. (1947). Note on Fourier series IV : Summability (R_2) . *Proc. Camb. phil. Soc.*, **43**, 10-25.
 Luan, L. S. (1973). Summability of Fourier series and related series and sequences by logarithmic mean. *Nanta Math.*, **6**, 1-16.
 Titchmarsh, E. C. (1952). *The Theory of Functions*. The Clarendon Press, Oxford.